VASEES

SHSFE PNREE
IR A DER
BB FEEE 2ER REEE WER S
203,787 203,787 (A E g%
Bras{d4 | 1,877,787 1,674,000| 1,883,137| 1,674,000|5F054F E Hblst B A E3EA 4
5,350|7 77 FaL7ReEHIEICL 21RE
R Bh & 250,000{ 250,000 250,000 250,000(5HI55E E Huigifr S E BN HEE R BH S
AN 122,897 122,897 |pi E EigitE
(X(F2%) 132,891 10,000 144,397 21,500(.3% & EBERMAE (5% & B2
102,396 102,396 |pI E E igithE
A 120,000 79,950(=> =25y LIS
(BEE)| 239,316 16,920 258,987  20,767|2 I INEREREFHE - FIE
38,874(.5:% & & EEHEREIRT FER
17,000 & RERSME (1 74%)
A&t 2,500,000| 2,500,000 2,536,521 2,536,521
T HOER
B FHE R REEE 2ER S
Bh S f@tik 670,000]  50,000]  661,348|  34,269(B K A N>
RIES B 7 2 7F T VEIRI 34,269
250,000 247 740|BmEAE
KEM2E - H V) VETEM 247 740
100,000 78,957|7 7 7 ¥ FALT KRR
B b BRakamE Ak 3,190
& - ShEt 75,767
60,000 96,028|7 7 7 7 B IAER
BRER 49,518
W& - BERBE 46,510
150,000 147,594 | o ERIR R
kR REES 14,584
M EH K 4 — R/ 60,410
~JL Xy b+ (551@) 72,600
60,000 56,760 A E D L > &Lt
=Xl 670,000{ 670,000 661,348 661,348
B it AIER REEE WER S
=y eIk 675,000] 350,000]  452,790| 299,592|=>=7%& - IEEHE
R —vZ U0 - BRME 238,755
%y M 37,842
BE - 7K 22,995
130,000 72,198 | HHEHY - BHEREME Y LT RHD
BRI 5,000
HHEMMEE Y BT R 59,000
BV IMIBRMA 8,198
120,000 81,000(1EZEHY
50,000 O|BEm#EE =
25,000 0| & IEEBH EMMD
=Xl 675,000 675,000 452,790 452,790
iy




8 ik SER REER MER m =
HIEMEAL | 300,000] 100,000 210,056 87,455\ A N> N FEEFEHE
e BESELRY 33,930
bLubW7zZZAEDD EW 15,950
WME-SCY K;\KW )] 10,075
= W BeAT AR t_‘77’* 27,500
100,000 74,263|7 YATYRAANIF—2 3>y
IV 2= 3 R 41,333
BE - PR 32,930
100,000 48,338|7 7 V¥ FANLTR=
B B as s AR 3,190
J& - @ LK 45,148
A5t 300,000{ 300,000 210,056 210,056
B T &R PR REEE AIER R
WS 855,000 10,000 727,670 2,560(Biatm7s & Y R
150,000 178,009 R A
80,000 48,851 B EME (EHEBEEMN)
40,000 11,676 BIEEME (BXR)
156,000 156,000|#0 2 EEE L 2k &
30,000 0| Hhisl;ES) &
30,000 10,870| 2 < R #H=
Ku?ﬂz%
30,000 17,449 #2753 - BREIRIN 990
BRAR 16,459
150,000 130,955 |fEaniE A&
A3 e B 49,280
TAXYLATAY 59.400
AX—hFT7 v 22.275
5,000 4320|11REERL 7T v RO 7 KERER
174,000 166,980| FiH &
X HH> (1118) 166,980
= 855,000 855,000 727,670 727,670
fast | 2,500,000 | 2,051,864]
INAEE X HEE =Lalx
2,536,521 — 2,051,864 = 484,657
hEBEFMX BAHES &K
=5t




